jjﬁ“% B LA MAE % g | AL &
e i

s34 :26:;460mm wh, | 3574. 6

. 40 X 460mm £ 220 X | 850677

H60mm

L o e 40 X 460mm £ 220 X 20582. 4

BEA 660mm oy

AR - R A A0 Hen 4R B | o8 | 8877.08

K #% A #-4 TRA0 Feb R A2 E | ek | 2451.84

H
10014 | & fEAE SY500 5 |1 %F # 71| — % f4]
10023 | & A SY500 & 1 g5 ) — & 3 — % H]
10038 | & Al SY500 & 1 %r £ ¥)-— & )
10048 | AR SY500 & 1 48 17— R B % JH)
10054 ¢ B BLAE 8Y¥500 & 1 % — F P — % 4]
10068 | W B4 SY500 & 1 8 — B 5| — & 4]
10074 | W R $Y500 & 1 )y — & pl— % )
L 10088 | W ALAE SY500 4 1 L8] B — & ]
| 1009% | & A4 SY500 & 1 e — R Fl— 4% 5
10104 | & AR SY500 4 1 87— F 3| — &
10118 | & 524 | 8Y500 4 1 kBT — & B — % 4
10128 | % AR AE $Y500 & 1 a5 — & 5]—% 4
10138 | A% SY500 & 1 L8] — A P|— %14
1014 | & A §Y500 & 1 kg — B P — & )
10155 | & B4 SY500 & 1 48 ) — & B — £ 14]
10168 | & B7 A% SY500 & 1 e —F P4
10178 | €448 SY500 & 1 8] — R P %
1018 | w AR SY500 & 1 81— F 3%
L1019 | AR AR SY500 & 1 B — AP - &8
10208 | & Rg A SY500 & 1 8 — R Pl — &1
10218 | 28848 SY500 = 1 g P& 1
| 10228 | & ARAR SY500 & 1 g — A Pl & 18
| 10238 | W ARAR SY500 & i1 5] — 75— % 1
L 10248 | wHEAR $Y500 4 1 2 R P& A
10258 | Mg 5Y500 & 1 87— £ P ﬁ
10268 | W AEAE SY500 & 1 §3) — £ Pl—
10274 | W REAE SY500 & 1 57 R Pl im
10284 $Y500 4 1 487 — & Pl— % 8

WAL AR
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10294 | & A SY500 £5 ) — R 3 & )
1030% | & ARAE SY500 28— %ﬂwi

10314+ AEAY $Y500 L S I
10324 | & REAY SY500 £3) — F P& i)
1033% | b iEAE SY500 g2y — fﬂ £
1034# &%m SY500 45 — £ B — £ )
10354 | & RAE SY500 §a) — & 7| — & 4
1036 | & AEAE SY500 1 L8 R F|— & ]
10374 | & ELAR SY500 4 1 BT R P&
10384 | EARAE 8Y500 5 [ 57 - B Pl — &8
10394 | & fE48 SY500 4 1 BT — FE P-4
10404 | W ARAE SY500 & 1 )T R P %
10414 | W B AR SY500 & 1 a5 — B P &
10428 | & AR SYS00 & i1 4B — & Pl & 1]
10438 | A SY500 & 1 57 - B 3% )
10448 | B AR SY500 & 1 87— £ B %4
10458 | ALY SY500 & 1 §87 — & Pl-— .18
10468 | WA SY500 R £5) — 3 5] — % )
10478 | @ ARAR SY500 = 1 ke — & P& ]

10488 | W EEAE SY500 & 1 §5 17 — & B % ]
10494 | w0 R 8Y500 & 1 58— F ¥ & F
10504 | W FE4E $Y500 & 1 457 — F 3] — & i)
1514 | W A SY500 & 1 e —F B —F
10528 | W HEAR SY500 & 1 58] — R P& A
10534 | W ERAE SY500 & 1 fa)— F Pl & 4]
10544 | & AEAR §Y500 & 1 8 ) — A P — A
10554 | W ALAR $Y500 4 1 45)7 — F Pl— & 4]
10564 | W B A SY500 5 1 48 — R 7| — &4
10574 | B AT SY500 & 1 b8 — B P|— &7
10584 | 2 24k SY500 & 1 §8 ) — B B — & Ji]
10594 | & g2 AR SY500 & |1 s — B P&
10608 | % #24# SY500 & 1 45— B B — % )
1061# | A A% SY500 & i1 B —F P —&
10624 | & AR SY500 & 1 48] — & B — £ 4]
10634 | . iRiE SY500 4 1 48 — & B|-— % {4
10644 | 2 iRA% SY500 & 1 T — APl %H
10654 | ® iEHE 8Y500 & 1 ] — & pl—% A
10668 | A% SY500 = 1 §8 ) — £ B — % 14
10674 | R iR SY500 & 1 87 — R P — %4
1068% | ®HR4E SY500 = 1 B — AP0
10698 | # g SY500 & 1 fo ) — & Fl— %14
10708 | & 4g4E $Y500 & 1 far— A7 — 4% )
10714 | 2 824% SY500 & 1 8] — & 5 —%
10728 | B AEHY 8Y500 & 1 87— R P — %0
10734 | & LA 8Y500 & i 487 — B ) — & )
1074# | B HEAE SY500 & 1 8 —— & Pl & i)
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10754 | 248 SY500 a7 — APl — %74
1076% | L AEAE 8Y500 487 —F pl— &4
10778 | & fzsE SY500 - E P4

10784 | ¥ A AE SY500 kBT —F P % 8]
10794 | & AL4E SY500 8 — R Pl— %

10808 | & MR A4 SY500 %F”Tﬂ % 4}

1081% | & A48 SY500 £ 3 — & ]

10824 | & MR 4% SY500 i %rwgﬂ % 18}
10834 | ©LAZHE SY500 & 1 BT — AP — %
10843 | & AE4E SY500 & 1 §5 )7 — & P~ & 7]
10854 | & e 5Y500 = 1 48] — B Bl — & 7]
1086% | & BEAE | SY500 & 1 %rwﬂﬁwiﬁ
10874 | & BRAG | SY500 =) 1 kg | — B T A ]
10884 | & 448 $Y500 & 1 %r F 3 % 8
10894 | & ABAE SY500 = 1 %rw%ﬁw$ﬁ
10908 | A% $Y500 4 1 £ —F p]—

10918 | & A14E SY500 4 1 5] —F 7 iﬂ
10924 | & BE4% | SY500 'EE ?rw ) — % d]
10938 | & A 3Y500 4 11 b — A P — & W)
10948 | & 6348 SY500 4 1 % -~ & 3] — % 4]
10958 | 4 A SY500 & 1 AR B P — £ )
1096 | B AEAE SY500 & 1 =V S
1097# | & B4 SY500 CH )£ P &)
1098 | & AZIE Y500 & 1 2 —F Pl — 47
1099% | S AZHY SY500 R 4] — B B|-— %]
11004 | WAL SY500 4 11 o) —F 5%
11014 | 9 %A SY500 & 1 22— R | —F A
1102% | W AEAk | $Y500 R 427 - & 7| — & ]
1034 | B4 SY500 s 1 s — R3] -5
| 11048 | BARAY Y500 & 1 s — AR &
| 11054 | L ATAE SY500 & i1 | e — A — & ]
11068 | AR AE SY500 & 1 8 — ﬁ’f’} % ja)
11074 | £ 824K §Y500 5 1 45— £ 3| & i
1108#% | W #R4E 8Y500 =] 1 8 — %@ #.
11094 | & 7248 SY500 & 1 BT - R 3 & )
11108 | & 5 4% $Y500 & 1 48 — & p|— % 4]
114 | B384 SY500 & [ 57— B P&
11928 | A7 48 8Y500 = i 51— F p— %14
11134 | &84 SY500 & 1 @ — F 7] — % i)
11148 | L ALIE SY500 & 1 — F P & ]
11158 | & AR $Y500 4 1 f‘:;f;-r £ 7]~ & ¥
11168 | 28845 SY500 & 1 %rwﬁﬂ % )
M174 | LR $Y500 & 1 F ¥ — % ¥
1118% | WA 3Y500 & 1 %r ﬁﬂ #
1119 | & A54E $Y500 & 1 87— & 7| — 4 i
19208 | £ 884g $Y500 % 1 faT — % Fl— £ )
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M2 | AR SY500 s — & p— & ]
14208 | RLARAE $Y500 o — AP —F
11238 | & 548 SY500 ?r F Pl % [f]
11244 | & fE4E SY500 — B 3| — % |
11258 | wiRAE SY500 %rwm% . 1]
264 | G AE 8Y500 B — B — & F
1274 | & fRAE $Y500 ; o — & P— % F
1128 | W HRAE SY500 i | 1 B — A ¥ — &
11298 | & 4748 SY500 R ke ) — & ¥]— 4 o)
11308 | &AL $Y500 & i e —E ¥ —%
1314 | E AR 8Y500 & 1 B — B 7 — % i
1324 | LAEAY SY500 4 1 %Fw%ﬂwi@
133 | L iRg 5Y500 & 11 sy —Z R —%
1344 | & A 8Y500 & 1 51 — £ 7] — % J4)
11354 | L AF A 3Y500 & 1 48— & B B )
1136# | & ELAE SY500 & 1 el — R P — 4
137# | AR $Y500 & i1 55 — B | — £ 18
1388 | B REH 5Y500 4 1 2] —E 3l — %15
11398 | AR A 8Y500 & 1 48] — B B — % )
11408 | & A7 A SY500 & 1 BT — & Pl &
11418 | & A2AE $Y500 4 1 bnp —& 3 — %08
11424 | & f2 48 SY500 & 1 R — % 3 — A& I
1143 | W AE4E SY500 = 1 B —F 3 —% 1]
Madi | @ 52 AE SY500 & 1 R —AR— &R
11454 | &1 #2.48 SY500 & 1 B — R
1146% | 8248 §Y500 | B i 5 — £ 3| — £ F
11474 | B IEAE 8Y500 ERRE e — R P40
11484 | ¥ A4 | SY500 & 1 487 — A 7| — 47
11494 | ® BL4% SY500 4 1 5 —E P — &
1508 | % $A% 8Y500 5 11 e ) — R -k
1514 | & 54 SY500 & 11 A —%
1528 | & AEAE SY500 PR ks —EF— AW
11534 | & 24k SY500 YK sR— R Pl— k|
11548 | & FRME $Y500 4 1 L de T B P A
11554 | v AEAE SY500 % 1 47— %l — & 8]
11564 | W AEAE SY500 5 1 )" — R P-4
11574 | & AEAE $Y500 & 1 mr # 7— % 9]
1158% | B ARAE $Y500 & i1 b3 — B I — & JE)
1159% | H g% $Y500 4 1 BT — B ¥ — A
| 11608 | & ARAB $Y500 & |1 ;% B £
1614 | AR $Y500 % 1 — B P & 1)
11624 | W fEAE 8Y500 & 1 4a ) — % Bl — % [
11638 | WAEAR SY500 & 1 g -— & ¥|— % [d]
11644 | B ARAE SY500 & 1 B — A p— &
11658 | 4G SY500 4 1 g —F Fl— %0
166H | B $Y500 & 1 BT —F Pl— % )
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11674 | B fFAE SY500 - &P —% 0
11684 | & figi% 8Y500 48] — £ F|— %04
20014 | AR SY500 BT BB &
20024 | H AR §Y500 G e 3 1) el
20034 | & AFAE SY500 48T — B B = % 1)
20048 | VAR SY500 L8] — R P&
20054 | €L SY500 L8] — F 3 2 A& )
2006# | . AFAG SY500 ! 1 RIS -AF %W
20074 | AR $Y500 A 1 48— £ B 2 & 08
20084 | & ARG SY500 & 1 ) — R P& H
20004 | BALAE 8Y500 s i1 5 —F B %4
20104 | w2 ARAE SYS00 & 1 Sa) —F | &
20118 | &R SY500 4 1 B — R B &
20128 | R ERAR SY500 % 1 e — R A
L2013 | B ALAE SY500 & i gr T i
20144 | o AEaE SY500 & 1 fa ) — R P A 18
20154 | w4 SY500 & 1 %" — B P&
0164 | wALAE SY500 & 1 e — R P A
20174 | & #24% $Y500 & 1 sa 7 — A B £
0184 1 W ARAE 8Y500 & 1 5 — & Pl &5
20198 | & AFAE $Y500 & 1 $8T — R P A 1)
20208 | W HEAE SY500 & i fp)— AP AN
20218 | B AR | SY500 & 1 LED MRS 1 - )
20228 | AR | SY500 & 11 55— '*f ¥ =& 0]
| 2023% | W4 SY500 5 1 Y e
20248 | &R SY500 & 1 ) — f‘l £ 1]
20254 | W ERAE SY500 & 1 Y S I
20264 | AR SY500 4 1 $5 7 — % B Hﬁ sa‘}
20274 | L ARAY SY500 & 1 ey — P&
20284 | L EEAR SY500 & 1 o —EP 2k !‘é}
20294 | W ARAE SY500 & 1 el — £ P2 %
20304 | B ARAE SY500 4 1 B — R & 6
20314 | B SY500 5 1 BRI &
2032 | wRAE SY500 = 1 — B 3 &
2033 | EARAE $Y500 4 1 kg — APl & A
20048 | B AR SY500 & 1 e — R P &
20354 | B HFAR SY500 & 1 BT — R A
20368 | B HAR 3Y500 4 1 B —F 7 = i
20374 | Y ARAR 8Y500 & 1 sa —F P
2038# | HEAE SY500 & 1 B —F 5 $
20398 | wERAE SY500 4 1 é%f‘ £3| %14
2040 | @ ARAE SY500 & 1 sa ) — AP &4
20414 | AR SYS500 & 1 %SI’ — E F| & 0]
20424 | ® AR $Y500 & 1 5 ) — & P&
20434 | & BAE SY500 = 1 58— & Pl H W
20444 1 B ELAE SY500 4 1 48 — RPN & F
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20454 | & AL SY500 ) — AP %
20468 | B ARG SY500 a7 — A5
20474 | wARAE SY500 e —FE Pl =% A
20488 | W ALAE SY500 YRS 1 el
20494 | ALK $Y500 LES R el )
20508 | & ARAE SY500 %&:}‘* ~— F P 5 [
2051% | & AR SY500 kB AR & 6
2052¢ | #ARAE 8Y500 " 1 By — E¥= %01
20534 | LATAE SY500 & 1 B —A ﬁ*i:f-$ i}
20544 | W AEAE SY500 & 1 f8 ) — A P = & i)
20554 | W ERAE SY500 4 1 BT — AP &
20564 | W AR AR 8Y500 & i B — R A
20574 | HARAR SY500 & 1 BB P A
20588 | W ARAY SY500 4 1 B — AP %
20594 | A SY500 & 1 48— £ P % 6]
20608 | L AEAR SY500 & 1 58 )7 —F P % 14
20614 | #,RAR $Y500 = 1 [ 1 el
20624 | B EEAR 8Y500 = 1 BB Fl A 0]
0634 | BALAE $Y500 & 1 B R P A
W6 | b AR 8Y500 & 1 gy — & Pl &
20654 | W AR 3Y500 4 1 48)7 — A P % 4]
20668 | BT E $Y500 & 1 ) — R P
20678 | AR 8Y500 & 1 BRI
2068# | W AR SY500 = 1 say — R P &R
20694 | & ERAY SY500 = 1 Lel— R P A
20704 | B AEAE $Y500 % 1 487 — & P £ 06
2074 | wREAE SY500 & 1 L2 — AP %
072 | BT $Y500 4 1 B —F I A
2073# | BAFAG $Y500 4 1 *"f’ A3 £ 9
20744 | & B SY500 & 1 — & 7} & ]d]
20754 | B LA $Y500 & 1 "ié’rf’ — & P&
20764 | ERAE SY500 4 1 4817 —F P £ 18]
0774 | wEEAE SY500 & 1 57— R P E
2078% | W AEAE 8Y500 4 1 4] — £ 7| &
20798 | L AEAE 8Y500 & 1 W) —F P %6
20808 | ¥ AEAE $Y500 & 1 far— &Pl & 08
2081% | B ELE $Y500 & i e — AP &
2082 | B HEAE SY500 & 1 =S RES § L Bl L
20834 | WA $Y500 & 1 By — R P & A
20845 | W AEAY 5Y500 & 1 e —F P& )
20854 | W REAE $Y500 & 1 kg R P &
2086 | €A SY500 & 11 BR3P =&
2087% | & AEAE SY500 & 1 - EA 7 F 0
20888 | W 4EA% SY500 & 1 8] — B & 9
2089% | ®ARAE SY500 & 1 )7 40
20904 | @ K $Y500 & 1 57— R P % ]
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20918 | B AEAE SY500 2 —E R %
20928 | % EgAE SY500 SRR 1 B B
20934 | @AY $Y500 LES IR A Rl
20048 | B REAE $Y500 %I’ 5 &R
20954 | B AR $Y500 B R P A
20964 | 4L SY500 IR &
20974 | ©ATAE SY500 : e — R P&
20084 | LREAE 5Y500 : 1 L R S
20994 | & fEAE SY500 & 1 fa 7 — 2P| &
21008 | o AR AR SY500 & 1 a1 —RP R
2101% | EARAY 8Y500 & 1 k8T — % 7 A
21028 | & AEAR $Y500 & 1 sl — A Pl E
21038 | & ARAE SY500 5 1 45— F P 2 & 1]
21048 | B RAE SY500 & 1 ) — R P2 %06
21054 | & fRAE $Y500 & 1 k27— R P2 &
21064 | R SY500 4 1 g — AP A
1074 | AR AR SY500 & 11 8 — AP % 06
21084 | w84 SY500 2K e
211098 | € ARI $Y500 & i g — £ 5| = & i
2108 | wHRAE SY500 & i1 ka7 — R OP R
20118 | B iFAE SY500 % 1 bar — &P &
112 | & AR SY500 & 1 58T — R B LA
21134 | M 8Y500 & 1 ey —F P &)
74148 | W | SY500 & 1 s — A P & )
21154 | B4 $Y500 & 1 By R P A ]
21164 | BEEAE 5Y500 & 1 B —F P &
VARV R A 2 SY500 4 1 e — R P %A
21184 | ARAR SY500 & 1 B —F P F 0
21198 | % A44% SY500 & 11 s — % 9] = &
21208 | B AEAE $Y500 % 1 b — B P&
N4 | &4 SY500 & 1 sy —F P &
124 | B AEAE $Y500 & 1 be T — AP I F i)
21234 | W AR SY500 & 1 gn ) — B | = & )
21248 1 W, AR 8Y500 & 1 LS S e Ll
21258 | RERAE SY500 = 1 ka ;R 3 & A
21268 | B AR $Y500 & 1 bBJ ‘;* Pl &
227 | VR 8Y500 & 1 &W B & R
21284 | W ARAE SY500 & 1 - { ﬁﬂ % ]
21208 1 & B2 4 SY500 4 1 ﬁu}”’ 7| =%
2304 | B AFAE SY500 & 1 e — R P EN
2131% | R AR 5Y500 4 1 kg7~ F Pl A A
21328 | B AFAE SY500 ] 1 ey —F 5 $ *ﬂ‘l
2133% | £ A48 $Y500 % 1 Y

2134 | L ERAR SY500 & 1 45— £ 5] #i 153
21354 | & B4R | 3Y500 & 1 ko) — R Pl E )
21368 | B ARAE SY500 & 1 — F P % ]
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21378 | B AEAE SY500 B —FAp A8
2388 | B 5Y500 57 — APl &8
21394 | BALME $Y500 LBy — AP &
21408 | B AEE $Y500 8B — R P %
1414 | e AR SY500 L8 —F P& A
21424 | W AEAE SY500 g — R P& 8
21438 | W BLAE 3Y500 55— £ 3 %08
21448 | B ARAE $Y500 v 4 e — AP &
21458 | S ARAE SY500 4 1 By AP A
21468 | BARAR $Y500 & 1 48— R P & 6
2478 | LG 8Y500 & 1 EEY R P
2148% | SRR SY500 = 1 e — B Pl £
21494 | @i AE $Y500 & 1 e — R P&
21504 | S ARAR SY500 = 1 487 — R 7| 2% )
21514 | wERAY SY500 & 1 27— % Pl &)
21524 | WL EEAE SY500 & 1 £5) — £ Pl & A
2153% | w R SY500 & 1 Lg ) -— A Pl A
21544 | AR $Y500 & 1 45 )7 - £ 7| & ]
21558 | @ fEAE SY500 & 1 B~ AP &
21564 | WARA% SYS00 4 1 kg —E P& 9
21574 | B ARAE SY500 & 1 se ) — R P & F
21588 | W ARAR $Y500 & 1 43— R 9] %4
21594 | & AR 8Y500 & 1 gg ) — AP &
21604 | WAL 8Y500 4 1 451 — F P& E]
21614 | WAL SY500 & 1 sg ) — R P %
21624 | B ELIE SY500 & 1 f57 — B ¥ & 14
21634 | W ARk SY500 = 1 5/ — &P &0
21648 | B ARAE SY500 5 1 e — £ P & )
21658 | & HEAE $Y500 4 1 T S
21668 | R SY500 & 1 8] AP &9
21674 | W ERAE $Y500 & 1 ) —E B &0
21684 | B AEAR SY500 & 1 t5) — R P& 1]

&, )7 HE B DQ1500/1500. 35 £ 12 2

W HERBRE | 61250 = 6 #1824 6.3 &

WA AR 16 #1H2 AL A

BB s (TR B

i ) LC600/800 I 1t B 02 LA R AL 2

AT 700525 B2 |4 PSS Y

A BRE I xa000m/H £ 10 wA RS R

HMET S, 28 2

% AL 80/20T-30. 5M £ |2 #1H2 9132 &

LT CPz61Y-P5417. &V £ |2 12 JAHLT B

: 3 rde - s
B SR AP RCS~985 £ 13 12. 6 AN ETRE

1)
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A A F 2 2R

6.3 AT AA LA

(UPS) /220~ARS
BHHAEE | TV-3(120 6.3 AREMED E
e T
KR A RA | SMFJ-03 RU#2 4597 12 £
A B 4K e 3 e
AT 7 4 NUC 2AW #1#2 ARk
£ 97 A £ :
ﬂuj{‘ iR A 5003 P
HOER,
ECMS & A 42 %
- g 3 2 2T 5
. CSPA-2000 £ 1 12, 6 KA dF 1430535
FRERE SCB10-2500/6 & 34 380V & PC A BLE T
S HE LT | . .
5 R SFF11-50000/20 & 2 HRR
220KV )£ FE . ,
=i s SFF11-420000/220 4 12 R 5519
GERH /&R | ..
- Rk
B AR 0 %HTW%Q%O & 1 IR A
ElE A
;; A AR 6 os00ED & 4 #1#2 BUE A
Ak 5 A 48 1500m3 & 12 fb 2 A K
iR XNFLS-1. 4/380-720 4 12 #1142 7 12 K
= 2 3% L
j;f’ TR REER o om3/h H25m £ 2 A 7 R 6)
\ . ide A AR e it &
FAN:/ s " S &
A H A R 000 & 2 M, EoAafiEIH
(DCS) .
L2
bky F#£48 KYN44-12 & 144 GKVI. 1l Bre %
WE A E - X
a S ) *
P TA2/Q235B b, 374,716 | W EHEEB A
Lhik R & PTM B 12
Lshic £ & PTM £ 2
X B8 1K=30.5 L
55§ 4 145%1 70%2578mm o, 1552. 16
#ox TR R ZHSFPTB & |3
R HE A R 76230-450 wk, | 3180
e A R 2G230-450 wb, | 372.2
32 3% HE AT AL QWL22-140 & 180
A, BERE |, ) e
5. WEFBLEE | .16
EREREE . sSMRARAR | ARE. MR, SAHR
Y e Lo 4884.91
, . b, i, @ip,
B, 4BIEMES ‘ )
AN, BIRARES | o pam s3 ST, |k | 2072.87
AR SR AT badn
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EIA A S

X A 5T 474

DAENDEVAVOR &

T K

AR ARER, WA
b R N

EHE M A &

Y4~73N0029D-

iR ENE (32+32) £%30. 5m 8 12
ERmA LG | P
& aak : =
g Abseit$ A4 | TUK-BD-600-1F/2 2
A E WAk &AL 5212\224m2 14 1 B
AW o KQF-B~-300, 170L\300L | & | 60
i de B 22&?.5T,3T,8T,1?T,9T A §23
¥ i
i AR BFHE X, 5~60T & 110
WIRBHEARS 5. 5T/h,13.5T/h & 8
K PR A 16T 4 i3
| 16m3 /
b F | h, 40m3/h, 2m3/h, 12m3/ | & 17
i (
WO AR 12t/h, 4t/h G312
_ 6S500-32 /
FARE 4, 2850m3/h, 0. Zmpa G 4
FehFE R 400. 75t/h, 473. 41t/h | & 4
AR x%MJM%Wh&% s 4
N 2BWA-353-0MK4, b zh % |
FER 92KW (8kPa) 8kPa & | © | © |
B S T % Hedh g AR $=14m2 & 4 ;
@k R R 2850+/h 5% 2 f
HE LR E 150L / min . G5 2
e A E SX-10, HhiLH A
EAEE LX=700 & 4
Yk 4 10
,\@§5i, 3~12t/h 558 12 |
. @Wﬂawmmm, s 9
H=25m
AR %%. 1.0m2 \0. 25m2\0. 1m2 (&% |2
WA AR | B=1400mm, V=2.8m /s, |
ik % 4=1500t/h =
F 3k A A R R | BK60OS gt S IV
ézﬁn%k ki 0=16Nm3/min, P=68KPa | =
R ALAE & IR L250-8W Al A 6

g (B )

=42m3/min. P=0. 88Pa
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BEXBALEER
¢

212 & 890¢/h

WEhmhEE Q=45L/h
2700 X 160

ok i AE :l{~

RABRAERE X 2080 X 1

BB ALE R

EE R S

220V £ R R &

220KV A | A

4 18
SF6 % 3% 3% =
BKY FF i & 4 1100
BA %R EBI | PIOOE, 630KW &5 |2
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